

Name = Muhammael Amir

ID = 16372

Page - 1 Linear Algebra

Question = 1

Consider the following vector \mathbb{R}^3

$$v_1 \begin{pmatrix} 101 \\ 102 \\ 103 \end{pmatrix}, v_2 \begin{pmatrix} 102 \\ 103 \\ 104 \end{pmatrix}, v_3 = \begin{pmatrix} 103 \\ 104 \\ 105 \end{pmatrix}$$

$$S = \{ \vec{v}_1, \vec{v}_2, \vec{v}_3 \}$$

$$\vec{v}_2 = (2\vec{v}_1 + (3\vec{v}_3)$$

$$\vec{v}_3 = (1\vec{v}_1 + (3\vec{v}_3)$$

The set "S" is linearly dependent because this relation $101 \cdot \vec{v}_1 + 103 \cdot \vec{v}_2 - 105 \cdot \vec{v}_3 = 0$

Question-2

Ans:

In the constant c , write
Cost matrix " U " having two
products x and y .

$$U = \begin{bmatrix} 450 & 400 \\ 250 & 350 \\ 150 & 150 \end{bmatrix} \begin{array}{l} \text{material} \\ \text{labor} \\ \text{overhead} \end{array}$$

Let $x = \begin{pmatrix} x_1 \\ x_2 \end{pmatrix}$ be a production

vector corresponding to x_1

many of product x

and x_2 many of product

y , and define $T: \mathbb{R}^2 \rightarrow \mathbb{R}^3$ by

$$T(x) = Ux = x_1 \begin{bmatrix} 450 \\ 250 \\ 150 \end{bmatrix} + x_2 \begin{bmatrix} 400 \\ 350 \\ 150 \end{bmatrix} \begin{array}{l} \text{total material} \\ \text{total labor cost} \\ \text{total cost overhead} \end{array}$$

Part B: if production is increased by
a factor of, say, 4 from x to $4x$, then
the costs will increase by
the same factor from $T(x)$ to
 $4T(x)$

(b) if x and y are production
vectors, then the total cost
vector associated with the
combined production $x+y$ is
precisely the sum of the
cost $T(x) + T(y)$

Question-3.

four main things vector space.

four main ~~types~~ things of vector space.

- 1) the set V is closed under vector addition, that is, $\vec{v} + \vec{w}$, $\vec{v} \in V$
- 2) vector addition is commutative, $\vec{v} + \vec{w} = \vec{w} + \vec{v}$
- 3) vector addition is associative.
 $(\vec{v} + \vec{w}) + \vec{u} = \vec{v} + (\vec{w} + \vec{u})$
- 4) there is a zero vector $\vec{0} \in V$ such that $\vec{v} + \vec{0} = \vec{v}$ for all $\vec{v} \in V$.

Part a: V

$V = \{2 \times 2 \text{ matrices with entries in } \mathbb{R}\}$; usual matrix addition and
 i.e. $\begin{pmatrix} a & b \\ c & d \end{pmatrix} = \begin{pmatrix} 1ca & 1cb \\ 1cc & 1cd \end{pmatrix}$ for $1 \in \mathbb{R}$

This is not vector space over \mathbb{R} .
 To make it vector space.

$$\text{i.e. } \begin{pmatrix} a & b \\ c & d \end{pmatrix} = \begin{pmatrix} 1ca & 1cb \\ 1cc & 1cd \end{pmatrix}$$

we write $m \times n$ for vector space of $m \times n$ matrices under the natural operation and matrix scalar multiplication.

Page - 4

Part b =

it is a vector space
under the operations

$$P_3 = (a_0 + a_1x + a_2x^2 + a_3x^3)$$

$$\begin{aligned} \gamma \cdot P_3 &= \gamma \cdot (a_0 + a_1x + a_2x^2 + a_3x^3) \\ &= (\gamma a_0) + (\gamma a_1)x + (\gamma a_2)x^2 + (\gamma a_3)x^3 \end{aligned}$$

if we identify these two spaces
elements in this way

$$a_0 + a_1x + a_2x^2 + a_3x^3$$

Correspondence $\begin{pmatrix} a_0 \\ a_1 \\ a_2 \\ a_3 \end{pmatrix}$

Question-4

Determinants: let $M = \begin{bmatrix} a & b \\ c & d \end{bmatrix}$
is 2×2 matrix

(a). For which value of $\det M$ does M have an inverse

Ans:

Solution-

$$M = \begin{bmatrix} a & b \\ c & d \end{bmatrix}$$

$$\det M = \begin{vmatrix} a & b \\ c & d \end{vmatrix}$$

$$= ad - bc$$

if $\det M = ad - bc \neq 0$, then M has an inverse

(b) write down all 2×2 bit matrices with determinant 1. (Remember bit are either 0 or 1 $1+1=0$ in bits)

Ans:

Sol:

$$A = \begin{bmatrix} 1 & 0 \\ 0 & 1 \end{bmatrix}$$

Proof:

$$\det A = \begin{vmatrix} 1 & 0 \\ 0 & 1 \end{vmatrix}$$

$$= 1 \times 1 - 0 \times 0$$

$$\det A = 1$$

proved

$$B = \begin{bmatrix} 1 & 0 \\ 1 & 1 \end{bmatrix}$$

Proof:

$$\det B = \begin{vmatrix} 1 & 0 \\ 1 & 1 \end{vmatrix}$$

$$= 1 \times 1 - 1 \times 0$$

$$\det B = 1$$

Proved

$$C = \begin{bmatrix} 1 & 1 \\ 0 & 1 \end{bmatrix}$$

Proof:

$$\det C = \begin{vmatrix} 1 & 1 \\ 0 & 1 \end{vmatrix}$$

$$= 1 \times 1 - 0 \times 1$$

$$\det C = 1$$

Proved

(C) write down 2×2 bit matrices with determinant

Ans:

$$\text{Sol: } A = \begin{bmatrix} 0 & 0 \\ 0 & 0 \end{bmatrix}$$

Proof

$$\det A = \begin{vmatrix} 0 & 0 \\ 0 & 0 \end{vmatrix}$$

$$\det = 0 \times 0 - 0 \times 0$$

$$\det A = 0$$

Proved

$$B = \begin{bmatrix} 0 & 1 \\ 1 & 0 \end{bmatrix}$$

Proof:

Page 7

$$\det B = \begin{vmatrix} 0 & 1 \\ 0 & 0 \end{vmatrix}$$

$$= 0 \times 0 - 0 \times 1$$

$$\det B = 0$$

Proved

$$C = \begin{vmatrix} 0 & 1 \\ 0 & 1 \end{vmatrix}$$

Proof:

$$\det C = 0 \times 1 - 0 \times 1$$

$$\det C = 0$$

Proved

$$D = \begin{vmatrix} 0 & 0 \\ 1 & 0 \end{vmatrix}$$

Proof

$$\det D = \begin{vmatrix} 0 & 0 \\ 1 & 0 \end{vmatrix}$$

$$= 0 \times 0 - 1 \times 0$$

$$\det D = 0$$

Proved

$$E = \begin{vmatrix} 1 & 0 \\ 1 & 0 \end{vmatrix}$$

Proof:

$$\det E = \begin{vmatrix} 1 & 0 \\ 1 & 0 \end{vmatrix}$$

$$= 1 \times 0 - 1 \times 0$$

$$\det E = 0$$

Proved

Dege 8

$$F = \begin{vmatrix} 1 & 0 \\ 0 & 0 \end{vmatrix}$$

$$\text{clet } F = 1 \times 0 - 0 \times 0 = 0$$

Proved

$$G = \begin{vmatrix} 0 & 0 \\ 0 & 1 \end{vmatrix}$$

Proof:-

$$\text{clet } G = \begin{vmatrix} 0 & 0 \\ 0 & 1 \end{vmatrix}$$

$$= 0 \times 1 - 0 \times 0$$

$$\text{clet } G = 0$$

Proved

Solution:

$$\text{clet } A = \begin{vmatrix} T_{D1} & T_{D1} & T_{D1} \\ T_{D2} & T_{D3} & T_{D2} \\ T_{D4} & T_{D1} & T_{D5} \end{vmatrix}$$

Expand by Row 1

$$\begin{aligned} & T_{D1} \begin{vmatrix} T_{D3} & T_{D2} \\ T_{D1} & T_{D5} \end{vmatrix} - T_{D1} \begin{vmatrix} T_{D2} & T_{D2} \\ T_{D4} & T_{D5} \end{vmatrix} + T_{D1} \begin{vmatrix} T_{D2} & T_{D3} \\ T_{D4} & T_{D1} \end{vmatrix} \\ & = T_{D1}(T_{D3}T_{D5} - T_{D2}T_{D1}) - T_{D1}(T_{D2}T_{D5} - T_{D2}T_{D4}) + T_{D1}(T_{D2}T_{D1} - T_{D3}T_{D4}) \end{aligned}$$

$$= T_{D1}(T_{D3}T_{D5} - T_{D2}T_{D1}) - T_{D1}(T_{D2}T_{D5} - T_{D2}T_{D4}) + T_{D1}(T_{D2}T_{D1} - T_{D3}T_{D4})$$

$$\begin{aligned} & = T_{D1}T_{D3}T_{D5} - T_{D1}T_{D2}T_{D1} - T_{D1}T_{D2}T_{D5} + T_{D1}T_{D2}T_{D4} + T_{D1}T_{D2}T_{D1} - T_{D1}T_{D3}T_{D4} \\ & = T_{D1}T_{D3}T_{D5} - T_{D1}T_{D2}T_{D5} - T_{D1}T_{D3}T_{D4} \end{aligned}$$